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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-We were unlucky with the weather in Switzerland. They ... a blizzard in years but we were snowed
in for most of the week.
1) did not have 2) have not had
3) don’t have 4) had not had

2-William Shakespeare ... as the greatest writer in the English language, and the world’s pre-eminent
dramatist.

1) knows 2) is known
3) known 4) to be known
3-Jack didn’t know why people ... him peculiar looks until he realized there was a large hole in his
pants.
1) were giving 2) are giving
3) are being given 4) were being given
4-Since we founded the largest adoption agency in this country, more than one thousand children,
mostly aged4 to 6, ... .
1) have adopted 2) had adopted
3) have been adopted 4) had been adopted
5-In the middle of his fifth-grade year, Ben began to think that he ... a terrible time in the sixth grade.
1) is going to have 2) will have
3) is going to be having 4) was going to have

6-Professor Adams, a distinguished professor in English language and literature, ... at Harvard
university for 25 years by the time he retires in June.
1) will have been teaching 2) is going to be teaching
3) could have taught 4) have been teaching

7-We ... how to use the past perfect tense in our English class by our dedicated teacher when the
power went out.

1) would have been taught 2) have taught
3) were being taught 4) are taught
8-They ... fond of the house and its distinguished architectural elements, and didn’t want to leave.
1) grow 2) had grown
3) had been grown 4) have grown

9-There is no doubt that wind and sunlight are clean, efficient and renewable sources of energy, but
not everyone ... an alternative power project in their backyard.

1) is welcomed 2) have welcomed
3) are welcomed 4) welcomes
10-Right now, about three million hectares of Canadian farmland are growing crops of plants that ... .
1) have genetically modified 2) genetically modify
3) had been genetically modified 4) have been genetically modified

11-Fingerprints are scanned and ... in a database that is only accessible to law enforcements and other
government officials.
1) stored 2) have stored
3) are storing 4) were stored

12-Malaria is a parasitic, infectious, mosquito-born disease caused by Plasmodium. Humans ...
malaria by the bite of an infected Anopheles mosquito.

1) are developed 2) have developed
3) develop 4) have been developed
13-Supporters that ... tickets for the match against Chelsea will be able to use them for the one against
Liverpool.
1) already buy 2) have already bought
3) had already been bought 4) were already bought

14-There is no real doubt about the dangers of smoking; the claim that smoking is a serious health risk
... by many studies.
1) had been validated 2) has been validated
3) has validated 4) is validating

15-The doctor lost his license when it ... that the “nerve pills” he had been giving to many of his
patients were actually just placebos.
1) was finding 2) found
3) finding 4) was found
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Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.

16-1 understand your ... to hire someone with very little experience, but I assure you that my education and
work ethic will more than make up for it.
1) solitude 2) tranquility
3) reluctance 4) enthusiasm

17-The main ... of the new car model is its fuel efficiency, which makes it an attractive option for people who
want to save money on gas.
1) disadvantage 2) obstacle
3) limitation 4) feature

18-Renewable energy sources such as wind and solar power are becoming increasingly popular as they can
... natural resources into electricity without emitting harmful pollutants.
1) generate 2) convert
3) transmit 4) amplify

19-The company had to ... to meet the unexpected surge in demand for their product, which required
working overtime and hiring additional staff.
1) rush 2) delay
3) ignore 4) dread

20-International organizations often have to ... with each other to address global challenges such as climate
change and poverty.

1) suffer 2) argue
3) combine 4) cooperate
21-After several months of negotiations, the two sides were finally able to ... a compromise that satisfied
both parties.
1) eat out 2) hang out
3) work out 4) chill out

22-Scientists need to ... measure data in their experiments to ensure that their findings are reliable and can
be replicated by others.
1) absolutely 2) accurately
3) slightly 4) dubiously

23-The city set up a/an ... shelter for homeless individuals during the winter months to provide them with a
safe and warm place to stay until more permanent housing solutions could be found.
1) trivial 2) temporary
3) vast 4) objective

24-He would have liked to have a ... conversation with her, but the guards prevented this through their
intrusive presence.

1) luminous 2) confined
3) sedentary 4) confidential
25-At times, the camera was ... on moving surfaces, such as trains, trams, ships, or even the subway.
1) manifested 2) mounted
3) scored 4) grinded

26-The situation was ... by the fact that more routine work had to be done with fewer staff working in
poorer conditions.

1) bypassed 2) discouraged
3) aggravated 4) encountered
27-The text is unique, as it represents the work of a single author, who cogently ... a systematic approach to
psychiatry.
1) assimilates 2) procrastinates
3) articulates 4) obscures
28-A country’s future ... depends, to an extent, upon the quality of the education its people receive.
1) propensity 2) prosperity
3) comprehension 4) discussion

29-He ... his arguments with examples from the lives of legendary and historical heroines, with supporting
citations from an array of ancient and modern writers.
1) reported 2) surrounded
3) defended 4) planted

30-Reactions can range from simply talking about the incident or giving warnings for the future, to ...
privileges that are very important to the person.
1) evoking 2) revoking
3) preventing 4) reckoning
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31-Try to encourage children not to eat too many of those snacks and treats that tend to pile on the pounds
without providing much ... .

1) violation 2) nutrition
3) inspiration 4) invitation
32-For some university courses, the ... of applications are rejected because the competition for places is so
great.
1) heritage 2) majority
3) concern 4) principle
33-One of the reasons for the ... high price of many drugs is the huge cost of research and development.
1) traditionally 2) relatively
3) mentally 4) socially
34-We have two e-mail systems here: one for ... use, and the other for contacting people outside the
university.
1) internal 2) extreme
3) public 4) tropical
35-When there is heavy snow or ... fog, an airport may be closed down to prevent the possibility of an
accident.
1) voluntary 2) efficient
3) deliberate 4) dense

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

36-
1) The intricately woven tapestry, with its vibrant colors and intricate patterns, hangs majestically on the
wall.
2) On the wall, which majestically hangs the intricately woven tapestry, with its vibrant colors and
intricate patterns.
3) Majestically hanging on the wall, the intricately woven tapestry with it’s vibrant colors and intricate
patterns.
4) With it’s vibrant colors and intricate patterns, the intricately woven tapestry majestically hangs on the
wall.
37-
1) The antique vase, which had been carefully restored by a renowned artisan, was sold at auction for a
record-breaking price.
2) At auction for a record-breaking price, the antique vase had been sold, which had carefully restored by
a renowned artisan.
3) The antique vase, which had been carefully restored by a renowned artisan, for a record-breaking price
was sold at auction.
4) Was sold at auction for a record-breaking price, the antique vase, that had carefully restored by a
renowned artisan.

38-
1) The street performer, in the middle of the bustling city, played his guitar, drew a crowd of curious
onlookers.
2) Played his guitar in the middle of the bustling city and the street performer drew a crowd of curious
onlookers.
3) Drawing a crowd of curious onlookers, the street performer played his guitar in the middle of the
bustling city.
4) The street performer playing his guitar in the middle of the bustling city drawing a crowd of curious
onlookers.
39-

1) Its sharp claws extended and ready to strike with a loud roar charged the lion at its prey.
2) With a loud roar and ready to strike its sharp claws extended, the lion charged at its prey.
3) The lion charged at its prey with a loud roar, and its sharp claws extended and ready to strike.
4) With its sharp claws extended and ready to strike, the lion charged at its prey with a loud roar.
40-
1) Despite the heavy rain and strong winds, the marathon runners persevered and crossed the finish line.
2) The marathon runners crossed the finish line despite the heavy rain and strong winds and persevered.
3) Despite the heavy rain and strong winds the marathon runners persevered crossed the finish line.
4) Despite crossing the finish line, heavy rain and strong winds persevered marathon runners.
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Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Hello, Flanders conference hotel.

B: Oh, hi. I wanted to ask about conference facilities at your hotel. Have I come through to the right
person?

A: You have. I’m the customer services manager. My name’s Angela. So ...(41)... ?

B: Well, I’m calling from Barrett and Stansons. We’re a medical company based in Perth, and we’re
organizing a conference for our clients to be held in Sydney. It’ll be held over two days and we’re
expecting ...(42)... sixty people.

A: When were you thinking of having it?

B: Sometime early next year, like the end of January. It’d have to be a weekend.

A: ...(43)... . Our conference facilities are already booked for the weekend beginning January the
28th.

B: How about January the 21st?

A:T’m ...(44)... that’s booked too.

B: Well, let’s go for the February date then.

41- 1) what do you do for a living
3) what does it have to do with me
42- 1) with respect to
3) in the meantime
43- 1) Let’s get real 2) Put it in a nutshell
3) Do me a favor 4) Let me see
44- 1) afraid 2) scared
3) frightened 4) terrified
A: How was your interview?
B: It worked like a ...(45)..., actually. The interviewers thought highly of me and gave me a lot of

2) how can I help you
4) where are you off to
2) for instance

4) round about

credit.
45- 1) story 2) dream
3) bomb 4) watch

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.
The game of chess is thousands of years old. Chess has been played for so long now ...(46)... is unclear.
Regardless of where the game was first played, it eventually reached ancient Persia. In the 8th
century, conquering armies swept out from the Arabian Peninsula, creating an empire that ...(47)...
from India to Spain. From Persia, the game of chess traveled throughout the empire to Spain, ...(48)...,
to the rest of Europe.

Chess pieces and their functions are a small ...(49)... of medieval European life. The pawns are the
most numerous type on the board and are often sacrificed to protect other pieces. They represent serfs in
the feudal system who were tied to the land ...(50)... on and had no say in the destiny of their own lives.

The two rooks are set on each side of the back row and are like the castles that protected the
nobles and the clergymen. The knights are the only pieces that move in an ‘L’ shape, much like how
the mounted and armored warriors ...(51)... outflank opponents. The Church in medieval times was
much more relevant in daily life and politics ...(52)... and was represented by the bishops, which sat on
both sides of the king and queen.

The queen is the most powerful chess piece on the whole board, ...(53)... . It is an interesting
commentary on the precarious positions of such people in medieval court life. The ...(54)... of the king
in chess is very limited, considering that it is the most important piece in the game. Only the pawn has
fewer options when moving. The loss of one’s king loses the game and thus speaks to their importance
in the Middle Ages as a physical ...(55)... of the state.

46- 1) the place originated 2) that its place of origin

3) whose place of origin 4) that originates its place
47-1) stretched 2) inferred 3) varied 4) satisfied
48- 1) where it was from 2) from which it was

3) from there and 4) and from there
49-1) reflection 2) prevention 3) reduction

4) nomination

50- 1) working 2) to work
51-1) had the ability to

3) their ability was to
52-1) long ago

3) by far
53-1) it is not the most important one

3) not being the more important
54-1) celebrity 2) diversity
55-1) assault 2) embodiment

3) they worked 4) worked
2) were able and

4) and capable of

2) than even now

4) from now on

2) more important it is through

4) though not the most important

3) loyalty 4) mobility
3) fitness 4) handicap
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Basic to any understanding of Canada in the 20 years after the Second World War is the country’s
impressive population growth. For every three Canadians in 1945, there were over five in 1996. In
September 1966, Canada’s population passed the 20 million mark. Most of this surging growth came
from natural increase. The economic depression of the 1930s and the war had held back marriages,
and the catching-up process began after 1945. The baby boom continued through the decade of the
1950s, producing a population increase of nearly fifteen percent in the five years from 1951 to 1956.
This rate of increase had been exceeded only once before in Canada’s history, in the decade before
1911, when the prairies were being settled. Undoubtedly, the good economic conditions of the 1950s
supported a growth in the population, but the expansion also derived from a trend toward earlier
marriages and an increase in the average size of families. In 1957 the Canadian birth rate stood at 28
per thousand, one of the highest in the world.

After the peak year of 1957, the birth rate in Canada began to decline. It continued falling until in
1966 when it stood at the lowest level in 25 years. Partly this decline reflected the low level of births
during the depression and the war, but it was also caused by changes in Canadian society. Young
people were staying at school longer, more women were working, young married couples were buying
automobiles or houses before starting families, and rising living standards were cutting down the size
of families. It appeared that Canada was once more falling in step with the trend toward smaller
families that had occurred all through the Western world since the time of the Industrial Revolution.

56-What does the passage mainly discuss?
1) Educational changes in Canadian society
2) Canada during the Second World War
3) Population trends in postwar Canada
4) Standards of living in Canada
57-The word “surging” in paragraph 1 is closest in meaning to ... .

1) accelerating 2) extra

3) new 4) surprising
58-When was the birth rate in Canada at its lowest level?

1) 1957 2) 1945

3) 1951 4) 1966

59-The author mentions all of the following as causes of decline in population growth after 1957 EXCEPT ....
1) people being better educated
2) people getting married earlier
3) better standards of living
4) couples buying houses before settling down
60-It can be inferred from the passage that before the Industrial Revolution ... .
1) families were larger
2) population statistics were unreliable
3) the population grew steadily
4) economic conditions were bad
PASSAGE 2:
The principal difference between urban growth in Europe and in the North American colonies was the
slow evolution of cities in the former and their rapid growth in the latter. In Europe they grew over a
period of centuries from town economies to their present urban structure. In North America, they
started as wilderness communities and developed to mature urbanism in little more than a century.

In the early colonial days in North America, small cities sprang up along the Atlantic Coastline,
mostly in what are now New England and the Middle Atlantic states in the United States and in the
lower Saint Lawrence valley in Canada. This was natural because these areas were nearest to England
and France, particularly England, from which most capital goods (assets such as equipment) and
many consumer goods were imported. Merchandising establishments were, accordingly,
advantageously located in port cities from which goods could be readily distributed to interior
settlements. Here, too, were the favored locations for processing raw materials prior to export. Boston,
Philadelphia, New York, Montreal, and other cities flourished, and, as the colonies grew, these cities
increased in importance.

This was less true in the colonial South, where life centered around large farms, known as
plantations, rather than around towns, as was the case in the areas further north along the Atlantic
coastline. The local isolation and the economic self-sufficiency of the plantations were antagonistic to
the development of the towns. The plantations maintained their independence because they were
located on navigable streams, and each had a wharf accessible to the small shipping of that day. In
fact, one of the strongest factors in the selection of plantation land was the desire to have its front on a
water highway.

61-What does the passage mainly discuss?
1) Factors that slowed the growth of cities in Europe
2) The evolution of cities in North America
3) Trade between North American and European cities
4) The effects of the United States’ independence on urban growth in New England
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62-The passage compares early European and North American cities on the basis of which of the following?
1) Their economic success
2) The type of merchandise they exported
3) Their ability to distribute goods to interior settlements
4) The pace of their development
63-The word “sprang up” in paragraph 2 is closest in meaning to ... .
1) emerged 2) scoured
3) fought 4) lessened
64-The passage indicates that during colonial times, the Atlantic coastline cities prepared which of the
following for shipment to Europe?
1) Manufacturing equipment 2) Capital goods
3) Consumer goods 4) Raw materials
65-It can be inferred from the passage that, in comparison with northern cities, most southern cities were ... .
1) more beautiful
2) smaller
3) less economically self-sufficient
4) tied less closely to England than to France
PASSAGE 3:
Photography is an art form that has evolved significantly since its inception in the early 19th century.
The word photography comes from the Greek words “phos” and “graphé,” meaning light and
drawing, respectively. The first photograph was taken in 1826 by Joseph Nicéphore Niépce, but it
wasn’t until the introduction of the daguerreotype process in 1839 that photography became widely
popular. The daguerreotype process involved exposing a silver-plated copper sheet to iodine vapor,
which created a light-sensitive surface. The sheet was then exposed to light through a camera lens and
developed using mercury vapor. This process produced highly detailed and sharp images, but it was
also expensive and time-consuming.

The introduction of the wet plate collodion process in the 1850s revolutionized photography by
making it more accessible and affordable. This process involved coating a glass plate with a mixture of
collodion and chemicals and then sensitizing it with silver nitrate. The plate was then exposed to light
through a camera lens and developed using a solution of pyrogallic acid and silver nitrate. The wet
plate collodion process allowed photographers to produce multiple prints from a single negative and
enabled them to capture images more quickly. In the late 1800s, the introduction of roll film and the
Kodak Brownie camera made photography even more accessible to the general public. Roll film
allowed photographers to take multiple shots without having to change plates, while the Brownie
camera, introduced in 1900, was affordable and easy to use.

In the early 1900s, photographers began experimenting with new techniques and styles, such as
Pictorialism, which emphasized the artistic qualities of photography. Pictorialist photographers used
soft focus, manipulated negatives, and other techniques to create images that resembled paintings or
etchings. The introduction of color film in the 1930s and the development of digital photography in
the 1980s have further changed the art of photography. Today, photographers have access to a wide
range of tools and techniques that allow them to create stunning images that capture the beauty and
complexity of the world around us.

66-What is the main idea of the passage?
1) The history of photography and its evolution over time
2) The different types of cameras used in photography
3) The various techniques used to develop photographs
4) The impact of photography on society
67-What does the underlined word “it” in paragraph 1 refer to?
1) daguerreotype process 2) light-sensitive surface
3) camera lens 4) silver-plated copper sheet
68-How did the wet plate collodion process revolutionize photography?
1) It made photography more expensive.
2) It made photography more time-consuming.
3) It made photography more accessible and affordable.
4) It made photography less detailed and sharp.
69-Which of the following is TRUE about Pictorialism, according to the passage?
1) A technique that allows photographers to produce multiple prints from a single negative
2) A technique that involves using soft focus and manipulated negatives to create artistic images
3) A technique that allows photographers to capture motion
4) A technique that involves using color film to create vivid images
70-According to the passage, the ... has transformed the art of photography in recent years.
1) introduction of roll film
2) introduction of the Kodak Brownie camera
3) use of manipulated negatives
4) development of digital photography
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